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( Introduction to Development Economics )
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“r Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oS e o S T iy -

(a) Why is ‘gross domestic product’ not
considered to be an adequate measure
of economic development?

G TN TATF R et T e
TR Torg@ R I 1 397 772 9
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(b)

(c)

(@

(e)
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(2)

What does the life expectancy at birth
indicate?

B AT S 3 e 2

Choose the correct one to fill in the
blank :

Devel brings ,ut the Human
g Opment R“-‘pc;rt for the member
cointiesiofting United Nations.

( Worlq Bank, IMF, UNDP )

:;mﬁwm@mww
WWQW S 2T
el TORR

(R G, iy, g7, 7., 25, 0. 5. 1. )

Wha.t iS the m

€aning of ‘station state’
of an econg = &

my?
WA @ TR foferq w7

Give the me
ratio,

VR g e T |

Wh

Do;t d‘?es K refer in equations used by

@"a‘l’lzaar " Bis growth model?

e oy wfe @I
TR K3 wiof &2

aning of capital-output

( Continued )

(9)

()

(i

G)
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(3)

Write True or False :

The main cause of backwardness and
regional disparities has been the weak
backwash effect and strong spread
effect.

o] (7 ST oI

THPRel WIE SR (TEHE 6 IRG R
e SPOIERI-Fe SN I TP - |

Who propounded the ‘cumulative
causation’ theory of development?

TmEMieo] ‘cumulative causation’ S0
P S S SleTaafee 2 i

What is the basic strategy of the theory
of balanced growth?

SEfere TaEe 9% d4F (Five 13 9

Fill in the blank :

According to Prof. Hirschman,
development can take place only by
the economy.

T ot 3T 0

SR REET T Wi TR
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(4)
2. Answer the fOHOW’lng questj_ons e 2x5=10
O] I T gy

(a) Menti
O any two limitations of per

capita inco :
d Me as a measure of economic
evelopment

AT Sy
@RE wifzer e S
Wﬁmiﬁ%m%@ﬂam|

(b) State the s
calculate educatig,
human deye ot

indicators used to

n index in preparing

T nt index.

Rt o ERT I P P T
3991 g o1 Sea 41 1

(© What jg
Harrogd mo

Warranted growth rate of
del?

@’G%W%ﬁmmﬁ?

S
T ﬁ:h: Social overhead capital?
TR 5 e 2
(e) State
ProfiTe is assumptions made by
of a dy about the traditional sector
a-l ECQany

o
Sia @:ia‘ &S weifieq o= CRABE
1 st |
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( Continued )

- ey B 0 e TS

(S).

3. Answer any four of the following questions :
5x4=20
©e 2RI A I TR0 e fope

(a) Describe the dimensions of HDI.

HDI-F T@IER 3941 41 |

(b) Explain the role of technical progress in
the growth process.

T 2R ST S i e 4 |

(c) Bring out the relevance of the classical
growth model in today’s world.
Srefes 8o TR HM wife g
5[ 91 |

(d) State the central theme of the
Harrod-Domar model of growth.

S-SR S SRS I R Sa 91 |

(e) Describe how Gunnar Myrdal explains
the backwash effect in regards to under
development.

SRAOR ePPre N e st we
10 TR SHISREIRCR, 9047l 354 |

() Describe Hirschman’s idea of self-
reliance in the context of unbalanced

growth theory.
e TEe 99 TS R W™
Frgaerer ARG I
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L (7)

4. An
SWer any four of the following questions : (e) Gi itical appraisal of Arth
e ive a crl 0 ur
10x4=40 | limi
; i, . Lewis’s theory of unlimited supply of
°I9 SRR R Gy vRGR Tes o labour.
CIGIR| e AR @ 99iR

(@) “Development js not mere growth.
multidimensional ‘ AP A1 A 90 1

(i Elaborate the concept of vicious circle of
poverty as developed by Prof. Ragnar

Rather, it is a
concept.” Explain.

T G e i A | e R R

P TR 4y 22 <14 41|
Nurkse.
Y gesc:-ibe the obstacles to economic g (@O sl SRR REeR A-56
evelopment i, developing countries. YRETCO! Fzaira fordl |
KRG I TR S K (S R R h
* &

(¢ Inthe Context of Adam Smith’s theory of
d.eveppment, explain the concepts of
) (,hViSiOrl of Jabour and (i) role of
capital accymyation.
ST e Sy @ 2P (i) =N R
(i) i g SRSl AR
0 37

(d) Expla; :
p:PlaJnh the relationship between
Pulation growth and economic

growth
|
WIS S eGP IR TR
S0 3597 | '
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